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1A: Synonyms

Basal: 6 lowest correct
Ceiling: 6 highest incorrect

Score 1,0

Arst Last
Trial _ Trial

A M __ big-large
B Y __ nap-sleep |

1 angry-mad
2 ____ small-tiny

3 ___ mom-mommy
4 ____ giggle-laugh

©__L look-glance
6 L chef-cook
7 L beautiful-gorgeous
8 1 _Jawn-yard

9 L car-vehicle
10 _O street-road

11 L attempt-try
j2.25g amflctal—msmcere

13 __|_ devour-consume
14 __1_ untamed-unruly
15 __!_ conceal-cover
16 —_L_ portion-piece

17 __9 luminous-shiny
18 & 0 still-quiet

19 __O_ convince-prove
20 _ O yield-surrender

21 __O few-scant

22 __ | astute-smart

23 __\_ambiguous-unclear
24 __1_ eminent-renowned

25 __l_ chide—chastise
26 1 austere-bleak
27 __;_ resplendent-bright

28 3y refute-deny

0= D beleaguer-bother
30 2 munificent-generous
31 O effulgence-brightness

‘ | Number
W1 | comeet (0-31)

1B: Antonyms

Basal: 6 lowest correct
Ceiling: 6 highest incorrect

Score 1,0 o
First Last |
Trial Tr\lnl/
)(_ M yesno |
LB —A:JIB:QQWE‘__ J
1 — boy-girl
2 ____ hot-cold
3 ____ brother-sister
7, S good—bad
\.5' 1 large-small

6 )\ old-young
7 __\ forward-backward
8 __\ sit-stand

9__ 1 add-minus
10 2 smooth-rough

11 _2_ question-answer
12 ___‘_ friend-foe

13 __'_sharp-blunt

14 _1 cry-laugh

15 _1_ narrow-wide

16 —4 plural-smgle

17 —3- femmme—mascullne
18 ﬁ). shy-bold

19 _© Jazy-active

20 o general-specific

21 L accumulate-lose
22 A rigid-flexible

23 _ o latterfirst

24 __L pacify-agitate

25 _©_absurd-logical
26 {0 demure-outgoing
27 O tenacious-weak
28 __ b gauche-elegant

29 __1_ obdurate-yielding

30 1 sanguine-pessimistic
31 __2_ droll-serious

32 __'_ palliate-exacerbate

| Number
" [ ! Correct (0-32)

STANDARD BATTE xm

~Test1 Oral Vocabulary

To use the hand-scoring table, compute Total Number Correct below.

+ = (0-63

1A 18 Total

Test1 Oral Vocabulary
Scoring Table
Encircle row for the Total Number Correct.

Total Number
Correct AE (Est)* GE (Est)*

0 <2-11 <K.0
1 2-11 <K.0
2 37 <K.0
3 40 <K.0
4 4-5 <K.0
5 49 <K.0
6 5-0 <K.0
7 5-3 <K.0
8 5-5 K.0
9 5-7 K.2
10 5-10 K4
1 6-0 K.6
12 6-2 K8
13 6-4 K9
14 6-7 1.2
15 6-9 14
16 6-11 15
17 7-3 1.8
18 7-5 20
19 7-9 23
20 8-0 26
21 8-4 29
22 8-8 32
23 9-0 36
24 9-5 40
25 9-10 44
26 10-4 49
27 10-9 53
28 11-4 59
29 19 6.4
30 12-3 6.8
31 12-1 7
32 13-6 8.1
33 144 89
34 15.2 97
35 16-5 110
36 17-7 122
37 19 »129
38 22 >129
39 30 >129
»>39 >30 »>129
*AE and GE are estimates of the

precise values provided by the
gcoring program

:




dest2 Number Series

Basal: 5 lowest correct
Ceiling: 5 highest incorrect

Score 1, 0
First  Last |
Trial  Trial |
ApEE S
)
2. '8
3.9
4____ 4
D= 18
618
T 19
83
9___36
1021
First Last
Trial  Trial
BV .y
1 ——=6
12 ___20
183__ 4
14 ___ 8
15 .60
167 .2
1l =15
18 ___ 14
19__ 13
20} 16
YL 36
208 "
2331
24 45
25. 8.1
2615
27— .3
28.=—=-N8.14
29 __ ' 88or77
30 ) 27,35, 25, or 26
31_©D4
32_0 12

33_403,50r9
34_1 16 and 18

35 81
36 _120
37 1 _42o0r45
38 1 300r26
39_1 8or1l
40" -4 2
41 _2) 72 and 76 or 78 and 82
42 14, 32, or 41
77| Number
| | Correct (0—42)

Test 2 Number Series
Scoring Table
Encircle row for the Number Correct.

Number
Correct AE (Est)* GE (Est)*

0 <2-2 <K.0
1 2-2 <K.0
2 4-1 <K.0
3 4-11 <K.0
4 5-3 <K.0
5 5-6 K.1
6 5-8 K2
7 5-10 K.4
8 5-11 K.5
9 6-1 K.6
10 6-2 K.8
11 6-4 K.9
12 6-5 1.0
13 6-7 1.2
14 6-9 1.4
15 7-0 1.6
16 7-4 1.9
17 7-7 22
18 7-11 25
19 8-3 29
20 8-8 3.2
21 9-1 36
22 9-6 4.1
23 9-11 45
24 10-4 49
25 10-10 54
26 11-5 6.0
27 121 6.7
28 13-0 7.5
29 14-2 8.7
30 16-3 10.8
>30 >20 >129

*AE and GE are estimates of the
precise values provided by the
scoring program.




Test3 Verbal Attention | |
Basal: 6 lowest correct
Ceiling: 6 highest incorrect

Score 1,0
First  Last
Trial  Trial
Al = dog
Ble - auoNg
1 cow
2.5
Qe duck
4 ____whale
S |
6—-=9
7 — bear and frog or frog and bear
8 ___10then5
Cutoff = 2 or fewer correct
First  Last
Trial.  Trial
C M __ catthen9
9.2
1026
1 _* 7and5or5and?7
12 _°_ 6 then pony
13 - tiger then 2
14 _:__ frog then 2
15_L 4
16 = 1
17 _+ _5and 10or10and5
182218
19 __£__ cow then monkey
20_% 6
21 _~ 5and4or4and5
22 __ < chicken and kitten or kitten and chicken
23 _t 2and9or9and?2
24 __°_mouse
25 8
26 & _Dbear
27 _ ! 4and9or9and4
28 _«» 7and5or5and 7
29_4a 2
30 < cat then mouse
31 __¢__lizard and zebra or zebra and lizard
32_t _6then3
33 __'_lizard then 4
34 ' sheep then fox then rooster then moose
35_' 5-7-2-4-1
36 __C0 6 then shark then buffalo then gorilla then frog
| Number

| Correct (0-36)

Test 3 Verbal Attention
Scoring Table

Encircle row for the Number Correct

Number
Correct AE (Est)* GE (Est)*

0 <3-6 <K.0
3-6 <K.0

2 4-4 <K.0
3 4-8 <K.0
4 5-0 <K.0
5 5-3 <K.0
6 5-6 K.1
7 5-9 K.3
8 6-0 K.6
9 6-3 K.9
10 6-7 1.1
11 6-10 14
12 7-2 18
13 7-7 2.1
14 8-0 26
15 8-7 3.2
16 9-3 38
17 10-0 46
18 10-10 54
19 11-9 6.4
20 13-0 76
21 14-7 9.1
22 16-10 114
>22 >30 >129

* AE and GE are estimates of the
precise values provided by the

scoring program



Test 4

Basal Ten

Time Limit: 3

Score 1 point for each correct pair.

Time

min

.Letter-Pattern Matching

S Test4 Letter-Pattern Matching

A om’ —_ e Scoring Table

sec. s oy
Number - Start Time S Number
Correct (0-84) min sec

Correct AE (Est)* GE (Est)*




Test 5 Phonological Processing

5A: Word Access
Basal: 6 lowest correct
Ceiling: 6 highest incorrect

5C: Substitution

Basal: 6 lowest correct
Ceiling: 6 highest incorrect

Score 1,0

= Score 1,0
T o
A — — boy A~ sunny
B S dick B_—_ __ smaller
1 sl "1)_%_ swimming
o cake 2 1 funny
3___ banana 3}'3‘1 el
Cutoft = 0 correct cC= 1o
First Last D Ao sip
Trial . Trial 3 M et
C sV Tssistarti/bl 4__\ bag
4%\ start /k/ 5__2.no
5__\ start/t/ 6 =t cat
6 1 start/y/ 7 £ granite
7 . start/z/ 8 __° stall
8 " start/sh/ 9r." - s_it
9__¢ start// 10 = _tip
10 = start/n/ 11 - caught
11 <« end/r/ 12 ¢ fist
12 __+ end /ch/ 13 1 _rat
13 __* _end /ou/ 14 _fT nut
14 __1_ middle /m/ 15 &2 lawn
15 middle /g/ | B e
| | correct (0-15)

16 O middle /z/
17 __2_middle /j/

18 __o middle /str/

19 __£ middle /zh/

20 2 end /wo/

21 ___ U middle /ké&/
Number

5A Correct (0-21)

5B: Word Fluency

DA AT () -

I —————

Number
561 Correct

2_____ -

[
IETR——

Number

§B2 Correct

To use the hand-scoring table, compute Total Number Correct below.

+ + + : (0-234)
5A 581 582 5C Total

Te;ts 5 Phoﬁﬁloﬁ_iciglifg’rocessinigA
Scoring Table

Encircle row for the Total Number Correct

Total Number
Correct AE (Est)* GE (Est)*

0 <2-5 <K.0
1 2-5 <K.0
2 3-2 <K.0
3 3-8 <K.0
4 3-11 <K.0
5 4-2 <K.0
6 4-4 <K.0
7 4-8 <K.0
8 4-10 <K.0
9 4-11 <K.0
10 5-0 <K.0
1 5-2 <K.0
12 5-3 <K.0
13 5-4 <K.0
14 5-6 K.0
15 5-6 K1
16 5-7 K.2
17 5-8 K.3
18 5-9 K4
19 5-10 4
20 5-11 K5
21 6-0 K6
22 6-1 K.7
23 6-3 K8
24 6-4 K9
25 6-5 1.0
26 6-7 11
27 6-8 1.2
28 6-9 13
29 6-10 14
30 7-0 1.6
31 7-2 18
32 7-3 19
33 7-5 20
34 7-7 21
35 7-10 24
36 7-11 25
37 8-2 28
38 8-4 29
39 8-9 38
40 8-11 35
41 9.3 38
42 9-5 4.0
43 10-0 45
44 10-3 48
45 10-10 54
40 111 57
a7 115 6.0
48 12-3 6.8
49 13-7 82
50 14-0 86
51 14-6 91
52 16-1 10.7
53 16-10 114
54 17-9 124
>54 >30 >129

* AE and GE are estimates of the
precise values provided by the
scoring program




Test~6 Storv Rec dl

Note: Ea do not apply to this test
7 is based on the a of specific groups of stories

Score 1 point for each correct element.
1 /The cat/ tried to catch / the little bird, /
but the bird flew away. /

Number of
Points (0-4)

2 /The teacher / read / the children / a funny / story. /
' Then they wanted to hear it again. /

Number of
Points (0-6)

Stories 1-2 6A: Number of
Points (0-10)
4 or fewer points: Disconti rme testing
S or more points: Administer Stories 3 and 4 unless already administered

3 /Amy/and her dad / were out flshmg /ina boat /
/ Her dad sald “Dont talk /or the fish / will swim away"/

Number of
Points (0-7)

4 /Rick/ got some glow-m-the-dark / stars /
/ for his sixth / birthday. /
/ He wanted to put them on his bedroom / celllng /

Number of
Points (0-7)
Stories 3-4 6B: Number of
Points (0—14)
6 or fewer points: Admi tories 1 and 2 unless al

S Ir
7 or more points: Admi Stories 5 2nd 6 unless 2

59

5 / Some children / were blowing bubbles /
/ in the park. / These were not ordinary soap bubbles; /
/ they were candy bubbles! / The children and a dog /
/ were trying to catch the bubbles / in their mouths. /

Number of
Points (0-8)

6 /Doug/ put on a diving mask /
/ and went down into the water. /
/ He saw many colorful fish / of different sizes /
/ and shapes. / He saw a turtle swimming. /
/ He felt like he was wearing magical glasses. /

Number of
Points (0-8)
Stories 5-6 6C: Number of
Points (0-16)
8 or fewer points: Admi es 3 and 4 unless already administered

9 or more poi 1'5 Admi

tories 7 and & unless already administered

7

Stories 7-8

/ Mr. Chee / was driving along Highway / 41/

/ when he saw a car pass by with a monkey driving. /

/ He called the police / and asked them to watch for a blue /
/ station wagon./ Two hours later, /

/ the officers spotted the car. /

/ The monkey was holding the steering wheel, /

/ and his owner was operating the accelerator / and brakes. /
/ The man was charged with reckless driving, /

/ but no cha_rﬁes were made against the monkey. /

Number of
Polnts (0-14)

/ In his flrst / lecture / at a small umvers:ty /a profe‘sor/
/ was descnbmg the IaWbablllty./

/To demonstrate these laws, / he took a coin /

/ from his pocket / and tossed it onto the srlpy»ﬂSor /

/ When the coin Ianded, /it spun around / th,é times / |
/ and then came to rest vertucally on its edgé. /

/ The class applat}ded /

/ Even though he was not a mathematician, /

/ the professor estimated that the chance of the coin landing
in this position was /

/ approximately one in six thousand. /

Number of
Points (0-17)

6D: Number of
Points (0-31)

18 or fewer points: Administer Stories 5 and 6 unless already administered
19 or more points: Administer Stories 9 and 10




Test 6 Story Recall

9 /This nqur';or /a m,l‘l:m /n Londo;i / | (For hand scoring only: Use the colurmn beicw confesponding 1o e stories administired
§ I more than four stories weee administered, use the column corresponding to the /st four stories
/ Is featuring a flea circus. / dministered following continuation imatructions. Enter number of points beow
/ All of the performers are slightly larger T
_ ghtly larger than a pinhead. / | & @ G @ - Tom -G B F-TE
/The tralner says / that while some fleas are hard to teach, / s e = o
/ others hav 5 et
ave easlly learned many. tricks. / " Test6 Story Recall
/ They can perform stunts like walking on a tightrope, / Scoring Table
T auiliclon fomak & Encircle row for the Number of Points
' ging rapeze, / and jumping off a high dive / Nomber of Points
/into a waterfilled thimble. / | “Stories Storles  Stories  Stories  Stories
4 t2 14 36 58  1-10 AE(Esy’ GE(Es)’
/ They can even do sword fighting. / For the grand finale,/ = 0 = = = — 20 <KO
4
/ - 2 = - e - 2-1 <O
Hercules, / L 3 4 = - ~ 210 <KO
/ who Is known as the strong@st flea in the world, / 5 2 B . - Zj e
’ - — —_ <
/ pulls a toy,!(aln / that Is four times his size. / 7 - - - 39 <K.0
8 — A - 40 <K O
Number of 9 - — — 43 <KO
Points (0-18) [ 10 -y — P 45 <K.0
10 /The hurricane / bore down on the northern / coast / i e, = e W SO
" g | 12 74 = = 411 <K0
/on Frgpy. / Winds up to 1}0«(mllesyﬂﬁur/ 13 8 - - 5-1 <K 0
/ knocked fishing piers into the ocean / ‘ i 3, B - 5;; <ig
/ and destroyed between 40 and 50 / homes. / ; R A e
- 7o 16 12 8 = 5-10 K4
/ By tw/ooolclock. / the wayes / were up to 13 féet high, / 13 9 - 511 K6
/ causing officials to ban swimming / at many beaches. / :‘; :? - gi i;
/ The streets were covered with so much water / ‘ 18 12 B &6 Ll
17 13 = - 1
/ that people could see fish IWIng./ o 14 o ?_00 s i
/ For people living by the shore, / ‘ b - e bird
/ the best advice was 10 go Ir;ldﬁd until the storm had ‘ - 17 - 78 23
passed. / o . PP 4 e
21 20 - 8-5 30
Number of 22 21 19 8-10 34
Polnts (0-18) - 20 9-0 36
22 21 9-2 38
Stories 9-10 6E: Number of . .
Points (0~36) Ei ig ?):t:o : .‘x
Score Entry ‘ 25 2 10-2 47
| Enter Number of Points for each group of stories. Enter X if not administered. - 25 10-5 50
. 26 26 10-8 52
| BA: Stories 1-2 | ] @ = 58
Raanind - 28 114 59
(0~10 or X) 28 29 1110 64
‘ : - 30 12:3 68
6B: Stories 3-4 ’ J 29 31 120 74
‘ (0-14 0 X) 32 13-8 8.3
‘ 1 30 140 86
6C: Stories 5-6 | | - ;: 1‘ 3 9 u: 3
| (0-160rX) 35 17-11 12.2
i =2 R 19 >129
6D: Stories 7-8 | | 36 20 129
(0-31 arX) >32 >3  >23 >129
! | ' S | *AE and GE are estimates of the precise vaiues prov ded by the
6E: Stories 9-10 | i SCofing program
; (0-36 ot X)

I_B




7A: Spatial Relations
Basal: Item 1
Ceiling: 5 highest incorrect

Score 1,0
Fist  Last
'mu} Trial
Al B H
pEVE
L st
D2 VYHL
@_"pv
2_1\pL
3_' AE
4N )Y
5_' MP
6_' X.B
7 _BH
8_+ AH
gr=vy . MU
10_1 MU
1190 C HM
12_1 K, O,S
13+X,Z
14_9 su
15_@ YA J
16_0_UW
17_2 XA
18_2BK,L
19_"' FJ
20_"° FG,L
21 _L VWY
22 X, B, F
23_8 0o,S,U
24_% O,PS
A {~—~ Number

| Correct (0-24)

7B: Block Rotation

Basal: Item 1
Celling: 5 highest incorrect

Score 1,0
First Last
Trial  Trial

A Y

B,—fGtJ
1ot X
2L SRH
8. UG
4_: F|
B U F
i~ B *fm_g;} e o,
= C_z_Y,F
6_" BR
7-8H'O
8_'! GF
9_13 QR
10_" OR
11_« AF
12_% MR
1391 F
14_1 TX
15_2 RP
16_98G,0
17 =0.-FR
18_4 LU
199_o B/H
20_2 V,L
21O 1.0
22_L GO
23_D XY
24_4 mo0
™ | ] f Number

| Correct (0-24)

+ =

TA 78

Test 7 Visualization

To use the hand-scoring table, compute Total Number Correct below.

0-48)

Test7 Visualization

Scoring Table
Encircle row for the Total Number Correct.
Total Number
Correct AE (Est)* GE (Est)*
0-1 <22 <K.0
2 2-2 <K.0
3 2-5 <K.0
4 2-8 <K.0
5 3-1 <K0
6 33 <K.0
7 37 <K.0
8 3-10 <K.0
9 4-1 <K.0
10 4-4 <K.0
1 46 <K.0
12 4-9 <K.0
13 50 <KO0
14 5-3 <KO
15 56 K1
16 59 K3
17 6-0 K6
18 6-3 K8
19 6-6 1.1
20 6-10 14
21 7-2 1.7
22 7-6 21
23 7-10 24
24 83 28
25 8-7 32
26 9-1 37
27 9-6 4.1
28 10-1 46
29 10-6 a1
30 1141 57
31 1241 6.6
32 13-0 786
33 14-6 9
34 15-9 104
35 17-10 124
36 2 >129
>36 >28 >129

*AE and GE are estimates of the
precise values provided by the

scoring program




T O R N T U 7 T O e T e T P T

Test 8. General Information

8A: Where

Basal: 4 lowest correct
Celling: 4 highest incorrect

Score 1,0

— on top of a house

— Street

1
2
3
4 ___ onaface
5
66—

——on asink
hand

7 —_onadeer

8 ___ tree

9___ court

10 —_ sky

11 ___ horse

12 ____ mouth
("I;\___ orchestra

14 ____ bones

15 ____ music
16— on aface

17 —_ construction site
18 ___ towels

19 __'_on a boat
20 _©_ sailboat

21 L in the ocean

22 _9 on a weather map

1 Number

B | Correct (0-22)

10

8B: What

Basal: 4 lowest correct
Celling: 4 highest incorrect

Score 1,0
1 ___ brush teeth
24— talk
3 ____ sweep
4 ___ eat
5 ____ puton face
6 —_ talk or sing into
7 jump
8 ook at or see stars
9 ____ protect from rain
10 ___ decorate
11 ____ find direction
12 measure
@_ time ;meone

14 _1_ fix things

15 ; look up words

16 _h buy something

17 l put around words or numbers

18 _l measure distance walked

19 _‘. count

20 _____ measure atmospheric or air
pressure

21 __" playit

22 _ D cover wire

‘ Number
Corml (0-22)

To use the hand-scoring table, compute Total Number Correct below.

Test 8 General Infnrmallon

Scoring Table
Encircle row for the Total Number Correct.
Total Number
Correct AE (Est)* GE (Est)*
0 <23 <K.0
1 23 <K.0
2 2-8 <K.0
3 30 <K.0
4 3-3 <K.0
5 3-7 <K.0
6 39 <K.0
7 3-11 <K.0
8 4-2 <K.0
9 4-4 <K.0
10 4-7 <K.0
1 4-10 <K.0
12 5-1 <K.0
13 55 K.0
14 59 K3
15 6-2 K7
16 6-6 1.0
17 6-10 14
18 7-1 1.7
19 7-6 2.1
20 7-10 24
21 8-2 28
22 8-7 32
23 9-1 37
24 9-6 4.1
25 10-2 48
26 10-9 53
27 115 6.0
28 12-4 6.9
29 13-2 78
30 14-5 90
31 15-6 10.1
32 17-2 118
33 18-7 >129
34 21 >129
35 27 >129
>35 >30 >129

*AE and GE are estimates of the
precise values provided by the

scoring program

P
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' cept Formation
Basal: Introduction 1 or 2
Ceiling: Determined by cutoffs
Score 1,0
T | | | 2,’:} ] Test9 Concept Formation
A little circle ' - / | Scoring Table
) ji8 gNeof red | Encircle row for the Number Correct.
1 little | 24 __sl little or yellow ‘ TR —
5 | 25 _£ two or round ‘ (Including Items 1-5)
square | 26 —1 vyellow or square ‘ ltems ltems ltems ltems ltems
3 circle i -- i 1-5 -1 1-20 1-29  1-40  AE(Est)* GE (Est)*
Fint Lat ! ‘ 27 big or yellow or square | T o4 o4 041 01 01 <20 <K0
Tial THal | 28 —3 two or red or round \ . 2 2 2 2 28 <K.0
Bl = hircle | 29 _ oneor yeIIow or round ‘ 2 — — _ - g2 <K.0
—— X ‘ B, Sl N . 3 3 3 37 <K.0
4 ____litle mrc_le | oms 120 ‘ 1 0: Number ‘ 3 - u = 39 <K.0
5____ yellow circle .| Correct (0-29) y . " 2 4 £3 K0
e . Culoll 18 or iewef correct ‘ 4 — - — 4-7 <K.0
Items 1-5 | A: Number — e e e o il 5 5 5 49 <K.0
; | Correct (0-5) 30 - e blg ‘ 5 6 6 6 5.2 <K.0
Cutoff = 2 or fewer co\r;cl | 31 ___round ' 7 7 7 56 K.1
Ak Imle Ty ‘ ‘ 32 L big and square o 8 8 8 5.9 K3
First Last [ 9 9 9 5-11 K5
7:17; Trial | 33 twooryellow | 1o 10 10 55 e
D —_square | | L S 11 11 11 63 K9
AT e AR 7“ | ittle or qu ! 12 12 12 65 10
X | 36 big and red ‘ 13 13 67 12
6 red \
7 _ % big ‘ 37 22 two or red or round 14 :4 6?1 12
Ve — e e ek (1 13500 8 Jcquare ‘ = 2 & ~
8 T ; ‘ 15 16 7-1 16
one
9 Y iR | 39_ D blg or red 16 17 7-4 19
. S 40 __ two or yellow or round | 17 18 78 22
0 ey . | C | E Num | T e 28
Items 1-40 | . E: Number X
L_‘sq_uaf LSSl T | === Correct (0-40) ‘ 21 8-6 31
= T e i 22 8-10 34
Items 1-11 | umber | | Score Entr ‘
0, Correct (0-11) [ | y * 23 9-2 38
Culoﬁ 57 i coiraat j \ Enter Number Correct from ‘ 24 97 41
S e 1| \ appropriate box above and letter \ 25 911 45
irst  Last | |
Trial  Trial | corresponding to items administered. 26 104 49
{ 27 10-10 54
F_L __ yellow ' Number Correct  Letter ?
| (A.B,C,D,E) | 28 114 59
G _— _one | — ; 29 1111 65
12 square ‘ 30 12-9 73
13 % big | . 31 139 83
e 32 15-2 a8
|
' two 3\ 174 1.9
15 2 round [ >33 >22 >129
[ *AE and GE are estimates of the precise values provided by the
17 "n'e | Scoring program
18 ___one
19 = square
20 % red ‘
S e e \
ltems 1-20 C: Number ‘
Correct (0-20)
Culo" 12 or Iewer correct
First Last
Trial  Trial ¥
H_3 _ twoand i
yellow ; ;
21_0 big and red ’
22 _\ yellow and square
23 ! two and round

1
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“Test 10 Numbers Reversed | |
Basal: 5 lowest correct
Ceiling: 5 highest incorrect
Score 1,0
A—88 f&i‘i.ﬁ-ANu'milers Reversed
1____25 Scoring Table
Encircle row for the Number Correct
2 s Number
3 4-7 Correct AE (Est)*  GE (Est)*
0 <4-2 <K.0
4____ 16 1 4-2 <K.0
2 4-6 <K.0
5/ 8-5 3 4-10 <K.0
4 5-2 <K.0
B ___ 3-8-6 5 5-8 K.2
6 7.3-6 6 6-1 K.7
7 6-6 1.1
7 394 8 7-0 16
9 77 22
: Sei 10 85 30
9___ 592 1" 9-3 39 4
12 10-3 49 J
10 __3-74 13 11-5 6.0 ¢
14 12-8 73 a
c =\'N75:85 15 14-2 8.8 4
\ 16 16-5 11.0 :
—Lrolnd 17 20 >12.9 1
A 9-3-6-1 >17 >30 >129
12 __‘ 8-5-2-6 *AE and GE are estimates of the i
o precise values provided by the !
18 _— 4-7-3-1 scoring program
14 _1 3-6-29 :
f
15 . 9-5-7-2
16 2 5-9-2-4-7
17 ___ 1-6-4-8-5
18 ____ 5-2-8-3-7 ]
19 ____ 8-4-1-6-9
20 ___4-3-2-8-6
21 _D 2.5-9-3-7-4 :
22 % 7.3-6-1-5-2 f
23 __' 2-6-8-5-9-4
24 2 3-9-4-2-71
25 __ &) 8-2.7.3-9-5
26 L) 8-1-6-3-7-8-5
27 _ 2> 9-3-6-1-7-5-8
28 ' 6-3-1-8-4-7-2
29 _ ' 1.8-3-6-9-2-5
30 __ 3-6-1-7-4-2-8
31 _% 2.9-6-8-3-7-1-4
32_ 1 3-14-6-2-79-5
'y
33 __" 7-2-6-9-4-1-5-8
34 __* 2.5.4-7-3-1-6-9
Number
|| Correct (0-34) !
12
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Test 11 Number-Pattern Matching

Basal: ltem 1

Time L M:”] 3 minutes If not using a stopwatch,
- record the start and end
times in the box below.
Score 1 point for each correct pair.

Test11  Number-Pattern Matching

: nd Tim
P g i e Scoring Table
- Encircle row for the Number Correct
; | g:::;r(ﬂ-m ~ Start Time =l Number Number
~ 3 oS S el min sec Correct AE (Est)* GE (Est)* Correct AE (Est)* GE (Est)*
22 0 <3-4 <K.0 35 9-0 36
= Time s Yt EAes 1 34  <KO 36 93 38
i Sec 2 39 <KD 37 936 40
' 3 4-0 <K0 38 9-8 42
4 42  <KO 39 9-11 45
5 44  <KO 40 101 47
6 45  <KO 41 10-4 49
7 47  <KO 2 107 52
8 49  <KO 43 10-10 54
‘ 9 410 <KO 4 111 57
: 10 411 <Ko B 114 59
1 50  <KO 46 118 6.2
12 52  <KO 47 11-1 65
13 53  <KO 48 123 68
14 55 K.0 49 126 7.1
15 56 K.1 50 129 73
16 58 K.2 51 13-1 76
17 59 K3 52 135 80
18 5-10 K4 53 1310 84
19 6-0 K6 54 144 89
20 6-1 K.7 55  14-10 94
21 63 K9 56 155 100
22 65 10 57 182 108
23 67 12 58 173 118
24 6-10 14 59 20 >129
25 7-0 15 >59  >20 >129
26 71 17
27 7-4 19
28 7-6 21
29 7- 23
30 80 26
31 83 28
32 85 30
33 88 32
34 8-10 34

*AE and GE are estimates of the precise values provided
by the scoring program when time is exactly 3 minutes
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Basal: 6 lowest correct
Ceiling: 6 highest incorrect
Score 1,0
e
) A— — hig
B dag
1__po
2 _.__—-mp
e _hiff
4____ jate ‘
5. __.dod
+ 6____jop
7 tilp
(&~ marg
9 ____ prid
10 _—_fordin
11 _~ gorg
12 ____ ratner
13 _—_ fenner
14 _"_nilled
15 ____gleb
16 —__ remorted
17 —_ shardle
18 = trang
19 2 squift
20 =" crimplit
21 __ fligtite
22 ____ pleam
23 ____ defermifer
24 ____flabstriction
25 dibinacle
26 _____ expurdationery
27 ____ graphomorphicon
28 ____ improgratible

29 __._ appertibation

30 ____ exculflator

31 __L_ prefligitation

32 ____ befrestationing

33 _ sophomistrify

34 __._ promiventatious
35 __ redontentiousness
36 _‘ inexculpiatory

a7 0 tintinnadugrationary

14

Test 12 Nonword Repetition %)

38 __L) transinvationistical

39 _£3 volgalamicultry

40 ) pretransdispectionally
41 i disbimperpulamatory
42 _ = ovudiminbliminational

L eegenstabutitionally

43 _5%
44 0 propentientariticable

45 __ " emplitrationalipitory
46 _____ reflamtaministicalness

T_H Number
Correct (0-46)

Test12 Nonword Reﬁéﬁ?ion
Scoring Table

Encircle row for the Number Correct

Number
Correct AE (Est)* GE (Est)*
0-2 <2-0 <K.0
3 20 <K.0
4 2-4 <K.0
5 2-7 <K.0
6 2-10 <K.0
7 30 <K.0
8 32 <K.0
9 35 <K.0
10 37 <K.0
1 39 <K.0
12 3-11 <K.0
13 41 <K.0
14 4-3 <K.0
15 45 <K.0
16 4-8 <K.0
17 4-10 <K.0
18 5-1 <K.0
19 5-4 <K.0
20 5-6 K.1
21 5-10 K4
22 6-1 K7
23 6-4 1.0
24 6-8 13
25 7-1 16
26 7-5 20
27 7-10 25
28 8-4 29
29 8-10 34
30 9-6 40
31 10-2 48
32 11-0 56
33 LRER R 65
34 1341 77
35 14-8 92
36 16-10 1.4
37 28 >129
>37 >30 >129

*AE and GE are estimates of the
precise values provided by the
!'-C()lll\g program
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“Test 13 Visual-Auditory Learning
Basal: Test Story 1
Celling: Determined by cutoffs

5

ot N

Circle each error.

1 Cowboy and horse Test 13 Visual-Auditory Learning
Cowboy and dog Scoring Table
Encircle row for the Number of Errors
Test Story 1 A: Number of Number of Errors Number of Errors
Errors (0-6) Story Stories Stories Stories Stories Slory Stories Stories Stories Slories . "
Cutoff = § or more errors 1 1-2 14 1-6 1-7 AE(Est)* GE (Est)* 1 1-2 1-4 1-6 1-7 AE (Est)* GE (Est)
: 6-5 12-11 — — <20 <KO 39 6-3 K9
2 The big dog — 36 = 20 <KO 38 6-4 K9
i 10 ey = 2-1 <K.0 37 65 1.0
The little tree T A 23 <KO 36 66 1.1
+ — 38 = = 26  <KO 35 67 12
Tes! Stories 1-2 B: ::r:r:a(rogl‘ b o - . o 27 K0 a4 6.8 13
Cutoff = 9 or more errors B = = 28  <KO 33 &9 =
@2 — = 2-10  <KO 32 6-11 15
3 The big horse is black and white. 31 — — 30 <Ko 35 w370 1.6
The little tree i 30 - - 32  <KO 30 7-1 1.7
e little tree is green.
g 208 , v == 33  <KoO 29 72 1.8
4 Un@r the tree and on the 8 — — 35 <KO 28 74 19
277 - - 37  <KO 27 7-5 20
ground % 58 — 38 <KO % 77 21
The black and white horse is — 5766 — 39 <KO s 79 23
25 68 — 310 <KO 24 7-11 25
}’M the tree. — ;54 — 311 <KO 23 8-1 26
24 53 — 40  <KO 22 83 28
Test Stories 1-4 C: Number of - 52 — 41 <K.0 21 86 31
Errors (0-40) 23 51 — 42 <KO 20 89 33
Cutoff = 18 or more errors
- 22 stlS0F = 43  <KO 19 9-1 37
5 Bab is in the house. = q 80y = 4-4  <KO 18 9-6 4.1
S 21.,..48 = 45  <KO 17 100 46
Jeff is on the black and o Sbe 46  <KO 6 108 53
white horse. 20 46 - 4-7 <K.0 15 11-5 6.0
i — 45 o 4-8 <K.0 14 12-2 6.8
The horse is under the 19 4 — 49  <KO 13 134 79
green tree. — 43 = 410 <KO 12 150 96
. 18 42 — 411 <KO 11 188 >129
6 Bob and Jeff are not in the 41 58 50  <KO <11 >19 >129
house. 40 57 5-1 <K.0
39 56 52  <KO
They are on the ground. 38 55564 53  <KO
They saw the big cowboy 37 53 54  <KO
36 52 55 K.0
and the dog. i
35 51-50 56 K1
) 34 49 57 K.2
Test Storles 1-6 D: Number of 33 4 5. o
Errors (0-81) 33 8 58 K.2
Culolf = 31 . 32 47 59 K.4
uloll = 0or more error: 46-45 5-10 K.4
7 Bbb\and Jb{f are ride . . . ing on 3N 511 K5
43 6-0 K.6
black horse .. .s. po4 61 g
They sa\(the white House 41 6-2 K7
- 40 6-3 K.8
under the green tree . . . s.
They are not gb +w.ing by the *AE and GE are estimates of the precise values provided by the scoring program
house.
Test Stories 1-7 E: Number of
Errors (0-109)
Enter Number of Errors from appropriate box |
above and letter corresponding to Test Stories
administered.
Number of Errors Letter
(A.B,C.0,E)




Basal: G bowe

Test 14 Pic_ture Recognition

Ceiling: 6 h Cl
Score 1,0

i~

R sl -

ey
G S
2
Sz liP
4____A
Dl i

3

G HS
(S 0y
7T\ AF
8_\LUXY
e_1 PS
103U Y
1 > Q,R AL
12_428,I,L
13_>B,H
14 B.F.H
15 O
16 A B, F
17 MPR
18 U F
19 PR S
20 FHI
21 O PRU
22 HLOY
23 Ry A -
24 X,2,K, 0

Number

Correct (0-24)

Test 14 Picture Recognition
Scoring Table

Number
_ Coect  AE(Est)*  GE(Est)*

)
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Test 15 Analysis-Synthesis
Basal: Item 1
Ceiling: Determined by cutoffs
Score 1, 0 I i
Color Pretest | o3 yellow Test 15 Analysis-Synthesis
FIST Lost 24 black Scoring Table
I 25 yel|ow Encircle row for the Number Correct.
YRLOW ‘ Number Correct
— — black Items 1-25 C: Number ltems ltems ltems Items ltems
——~ 2blue Correct (0-25) 1-7 1-19  1-25  1-31 1-35  AE (Est)* GE (Est)*
Cutoff = 16 or fewer correct 0 0-1 0-1 0-1 0-1 <3-3 <K.0
T 26 blue N S, S T e T 2o
=y — 2 2 39 <K.0
5 Pa§sed 27 ____ black and yellow or i ; 3 3 3 a7 <K.0
0 Trained blue and red 5 e il - = 410 <K0
Q Untrainable 28 red 4 % g n 50 K0
First Last 29 blue 5 5 5 5 5-4 <KO0
Trial  Trial 30 red 6 6 6 6 57 K1
A — _—'black 31 yellow 7 7 7 7 5-9 K3
— 8 8 8 8 5-11 K5
1 ___ blue
tems 1-31 D: Number 9 J 9 ) 5, 19
2 black Correct (0-31) 10 10 10 10 6-3 K8
Cutoff = 21 or fewer correct " " " " 6-4 K9
3 yellow 12 12 12 6-6 1.1
T 32 ____ black and red 13 13 13 6-8 1.3
i 5
Tl T 33 __ black and red - i 5 a1 i5
B black 34 ____ yellow and yellow and 15 15 15 7-1 17
blue or blue and blue 16 16 16 7-4 19
4 ____ blue and black 17 17 7 22
5___ yellow 18 18 7-11 25
35 ___ black and black and - B i e
6 — blue and black yellow or yellow and 20 20 oG &
7 — yellow and black yellow and red or red o1 o1 & e
and black and blue 22 9-11 45
Items 1-7 A: Number 23 10-8 52
Correct (0-7) ltems 1-35 E: Number = . .
Cutoff = 2 or fewer correct Correct (0-35) 24 117 6.1
25 12-8 7.3
8. .red o 26 14-5 9.0
9 ____ black 27 17-10 124
10 yellow Enter Number Correct from 527 ~19 ~12.9
appropriate box above and letter
1 blue corresponding to items administered. *AE and GE are estimates of the precise values provided by the scoring
[E— program
12 YegOW Number Correct Letter
183 _—_re (A.B.C,D,E)
14 ___ blue and black
15 red and yellow
16 —__ black and yellow or
red and blue
17 —red
18 —__ black
19 ____ yellow and blue
Items 1-19 B: Number
Correct (0-19)
Cutoff = 11 or fewer correct
(€ e red
First  Last
Trial  Trial
D — — yellow
Er=u —blife
20 —__ black
21 ____ black

22 ____ yellow




Test 16 Object-Number Sequencing

Basal: 5 lowest correct
Ceiling: 5 highest incorrect

Score 1, 0
.
A dogthen3
B __ ___ applethen 9
1 ___catthen 1
2 orange then 2
3 shoe then 6
4 ____ house then 3
5 ____ birdthen 5
6 ____ manthen7
Tl Toa
C — ___ cat-milkthen 1
7 — fish - plate then 9
8 ___ sweaterthen6-5
9 frog - hat then 2

10 fruit - house then 7

11 ___toythen4 -6

12 bread - lion then 3 - 1

13 ____ horse - sock then 10 - 2

14 ____ coat - juice then 5 - 9

15 ____ pencil - coat then 4 - 1

16 ____ night - story - water then 6 - 9

17 orange - bear then 4 -1 -7

18 ____ belt - butter then 3-6 -8

19 ____ rabbit - dress then 9-5-4

20 ____ milk - rug - day then 5 - 2 - 6

21 ____ cow - cake - shirtthen 1-3-6

22 snake - soup - glove then 7 -2 -9

23 ____ pants - mouse - egg then 8 - 3 - 1

24 ____ skunk - flag - pen - magnet then 5 - 8 - 2
25 chair-cap-sugarthen4-7-6-5
26 ____ spider - bed - skirt then 2 -9 - 3 - 1
27 ____ cracker - pig - door - button then 5 - 8 - 6
28 ___ cheese - door - swimmer - wolf then 8 - 4 - 9
29 salt-fox - stove - boot then 4 -7 -2 -9
30 carrot - clock - corn - bird then 8 -4 -9 - 2
31 ____father - turtle - table - mitten - then 1-5-6 -3

Number

Correct (0-31)

Test 16  Object-Number Sequencing
Scoring Table

Encircle row for the Number Correct

Number

Correct AE (Est)* GE (Est)*
0 <2-2 <K.0
1 2-2 <K.0
2 3-2 <K.0
3 4-0 <K.0
4 4-8 <K.0
5 5-3 <K.0
6 59 K.3
7 6-3 K.8
8 6-9 1.3
9 7-3 18
10 7-9 24
1 8-5 30
12 9-1 3.6
13 9-10 44
14 10-7 5.2
15 11-5 6.0
16 12-3 6.9
17 13-4 79
18 14-10 94
19 179 123

>19 >29 >129

* AE and GE are estimates of the precise
values provided by the scoring program




Test17 PaiPCaficellation ()

Basal: Item 1

$ . If not using a stopwatch,
Time Limit: 3 minutes record the start and end
times in the box below.
Score 1 point for each correct pair. i LT
_‘5 O i | | Test17 Pair Cancellation
. ; End Time: e e i
i min. _Eec_Q \ mn T sec. ' Scoring Table
— 1 R —— l l Encircle row for the Number Correct.
L __j g:mllalr 0-133 | S Tine —_ —— | Number Number
e et (0353) | | min. sec. - Corect AE (Est)* GE(Est)® . Correct AE (Est)* GE (Est)*
0 <20 <KO 50 90 36
| =Time: e fr 1 20  <KO 51 91 37
| B min. sec 2 23 <KO 52 92 38
| i e s e 3 25  <KO 53 94 39
‘ 4 28  <KO 54 95 40
5 210  <KO 55 96 41
‘» 6 31 <KO 56 98 42
v 7 34  <KO 57 9-9 43
8 37  <KO 58 910 44
9 39  <KO 59 100 48

10 4-0 <K.0
1 4-2 <K.0
12 4-3 <K.0
13 4-5 <K.0

10-1 47
10-3 48
10-5 50
10-7 51

SRS S

60
61
62
63
14 4-7 <K.0 64 109 53
15 48  <KO 65 1011 55 i
16 410 <KO 66 111 56 i
17 411 <KO 67 114 59 1
18 5-0 <K.0 68 17 6.1 f
19 5-2 <K.0 69 11-10 6.4
20 53 <K.0 70 12-2 87 ¢
21 54 <K.0 4l 125 70 i
22 55 K.0 72 129 73
1 23 5-6 KA1 73 130 76
24 5-8 K.2 .74 134 79
25 59 K3 75 13-7 82
26 5-10 K4 76 13-10 85
27 511 K5 77 14-2 87
28 6-0 K6 78 14-6 a1
29 6-1 K7 79 149 93 J
30 63 K8 80 150 96 :
31 6-4 K9 81 153 98 i
32 6-6 1.1 82 15-7 101 4
33 6-8 13 83 15-11 105
34 6-10 14 84 16-3 109
35 7-0 16 85 16-8 n2
36 7-2 18 86 1741 AR 4
37 7-4 19 7 17-8 122
38 76 21 88 188 >129
39 7-8 22 89 20 >129
40 7-10 2 >89 >4 >129
a 8-0 25
a2 8.2 a7
43 83 2
44 84 29
45 8-5 3.0
3 46 8.7 3 i
‘ a7 8-8 33 s
a8 8-10 34 k
49 8-1 35
*AE and GE are estimates of the precise values provided '
by the scoring program when time Is exactly 3 minutes z
L
;
f
I
1
19




Test 18 Memory for Words |

Basal: 4 lowest correct

Celling: 4 highest incorrect

Score 1, 0
Fimt  Last
Tial  Tral
A —— — mother...chalr
B e thAtS T OwWn
1 —qirl...tree

2 _____is...book

!

3 — he...water
4 ____ _sleep...little...go
5 ___no...day...she
6 ____make...see...door
7 —grass ... father...not
8 _ just...there...like
9____ _help...grow...take
10 —_ride...clean ... wish
11 ___had...know...be...other
12 ___how...done...after...must
13___it...yellow...all...off
14 ___where...of...in...would
15 ____ask...under...hold...use
16 __her...out...can...try...think
17 —_will...or...every...got...said
18 ____bring...well ...these ...start...before
19 ___ from...have...they...up...each
20 ____good...warm...say...give...pretty
21 ___at...people...dark...his...some...always
22 ____when...there...do...could...if...sit
23 ____time...what...were...more...one...this
24 ___ _him...for...so...are...on...get...put
25____ _about...has...then...here...open...came...was
26 ___light...any...with...did...went...you...walk
7 Number
. Correct (0-26)
20

Test 18 Memory for Words

Scoring Table
Encircle row for the Number Correct
Number
Correct AE (Est)* GE (Est)*
0-1 <20 <K.0
2 2-4 <K.0
3 2-11 <KO0
4 34 <K.0
5 38 <K.0
6 40 <KO0
7 4-4 <K.0
8 4-8 <K.0
9 5-0 <K O
10 56 K1
1 6-1 K6
12 6-7 12
13 7-3 18
14 8-0 26
15 90 36
16 10-2 48
17 11-10 6.4
18 14-4 89
19 20 >129
>19 >27 >129

*AE and GE are estimates of the
precise values provided by the

scoring program
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